THREHBIEICETSE

I:IJ_.IE (:I:EI)IL

R LB

BERABRZRDERE THER

Zz MR =1 B061110

7K EN £ INK)

] J £ INK)

e iR % BERAMIR2

3} E th TEAFRMERETFAT=HE
AOAE 3 BFELEREBEIABERIARAE 72—

1:200,000
2 4 6 8
_:_:_ km

. W IR T > 0.0 7 e ) =

R [ N7 S I 5

5z

& X](S=1:200,000)

5% B(S=1:25,000)




T A R R &R

HHS—1 BENSTLOHD LM ELLVEEDSTNDHLLHDHRER | imdsen | vakzsnd
E 0 B ERES B061110 | ZE4 | AR = A
_7::5%_71_// 33 ’/‘ ! / ff- . e = & : VL, A y
= 7/,/ / ; {/ i * —
— S / // .‘f ( |‘I [ i
”i ’/.// | | (1 \\ \”
——=——J|[Ill{1n
o s = k | | {1 ‘
. ." ‘ T
= I

@ A

O - 5ﬁ.'|:ﬁﬂ§
(RTHREBOBR S EEKIE)
0° ~2° m— 10° ~15°
— 0% ~3° m— 15° ~20°
m— 3% ~7° 20° ~30°

— 7° ~]0° — 30° ~

— TRERER(T D = RE )
TRl RIERGRAK 1 <t 0)

BREOETNDSHDLHORHE
TRRICEYBEYICHE
o
ELops |[LEROBE x [T EBZ R
opzhe [MEBAIRE [y rw rypmnice
=85 50kN/m’ LA T O K 35
LEAOES AU FORHE E
1:2,500

0 25 50 75 100
L T 1m




T 7m R K & A O
HR3—2 BEWMICHERTELEEINSEEICETSRIE HEEE | LIS FEIE
% P ) fir & ZhES | B061110 | ERg  BROOKR2 | FREEM | FEPEE R = A
MW RRES THERDESh(m) TERDFREAFAN/m®) | BEYDOT HP2KN/m2)| #HEAIRES | LRERDESh(M) | THEROFREAFDKN/m?) | BEH DT 7IP2(kN/m2)

No.0 0.69 49.15 10.35

No. 1 0.42 23.62 15.93

No.2 0.1 28.05 13.38

No.3 0.56 28.89 12.87

No.4 0.55 26.08 12.51

No.5 0.53 22.44 15.10

No.6 0.46 18.30 14.54

No.7 0.31 10.44 21.39

No.8 0.27 8.02 24.00

No.9 0.24 5.30 27.30




